Let n be a positive integer. Then
al=1-2+3 4 (m—2)n— Da.

0! is defined to be the number 1.

- Ifr aﬁd_nzrc—i;tegers with 0 < r < n then we I{a\?tlie_ following.
Either of the symbols n\ or ,C, denotes the number ————— .
r} ri(in — r)!

(f) is called a binomial coefficient.

For each positive integer 5,
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In the binomial expansion of (x + y)",
The exponent of y is always one less than the number of the term.

Furthermore, in each of the middle terms of the expansion,
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The coefficient of the term containing y" is ( )
.

The sum of the x exponent and the y exponent is r.



